Beregn procenter af decimaler

1,95 x40% =

5,2 %x50% =

3,69 x 80% =

9,76 x70% =

8,53 x 50% =

0, 14 x 20% =

7,48 x 60% =

4,31 x 10% =

0,03 x 40% =

8,99 x70% =

Dato: Score:

9,03 x90% =

2,92 x90% =

8,93 x 60% =

1,53 x90% =

6,17 x 10% =

4,86 x 60% =

8,4 x90% =

0, 88 x 80% =

5,29 x 60% =

7,07 x20% =
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FeT2A

Beregn procenter af decimaler

Navn:

1,95 x40% = 0.78

5,2%x50% = 2.6

3,69 x 80% = 2.952

9,76 x70% = 6.832

8,53 x 50% = 4.265

0, 14 x 20% = 0.028

7,48 x 60% = 4.488

4,31 x 10% = 0.431

0,03 x 40% = 0.012

8,99 x70% = 6.293

Dato:

9,03 x90% = 8.127

2,92 x90% = 2.628

8,93 x 60% = 5.358

1,53 x90% = 1.377

6,17 x10% = 0.617

4,86 < 60% = 2.916

8,4 x90% = 7.56

0, 88 x 80% = 0.704

5,29 x60% = 3.174

7,07 x20% = 1.414
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Score:
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